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P-1II (1+1+1) H/21 (N)

SANSKRIT (Honours)
Paper Code : VI - A & B

[New Syllabus]

® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).

Subject Code :

Subject Name :

® Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is ‘CORRECT” answer. The candidate has to write
the Correct Alternative [ie. (A)/(B)/(C)/(D)] against each Question No.

I

A

&

B

Important Instructions
for Multiple Choice Question (MCQ)

in the Answer Script.

Example — If alternative A of 1 is correct, the write :

1. — A

® There is no negative marking for wrong answer.
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Paper Code : VI - A
Full Marks : 20 Time : Thirty Minutes
Choose the correct answer.

Each question carries 1 mark.

1. How many languages are there in ‘eth[F[’ group of following?
(A)3
(B) 4
(C)5
(D)6

2. AT (auges) > S (ojas) this change is occurred by the rule
of —
(A) Verner
(B) Grassmann
(C) Collitz
(D) Grimm

3. The Example of Prothesis (3T ¥aTRH) is —
(A) T9 > T
(B) wyf > ameef
(C) ¥afd > Hagfa
(D) g > faffay

4. 9T > 9T — in this example, the change 1s occurred by —
(A) Dissimilation
(B) Assimilation

(C) Cerebralisation
(D) Aphesis
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5. The language of the ‘STdH’ group is —
(A) Greek
(B) Sanskrit
(C) German
(D) Latin

6. In which Prakrit language is the epic T3Eagl (Ea4:)?
(A) TorT=T g1
(B) T==T ST
(C) AT STt
(D) HETITET a1

7. WA > T34 in this example, the change is occurred by —
(A) FHAa
(B)
(C) =TT
(D) areterHaT

8. Which language is belongs to ‘W’ group of the following?
(A) ZaTiera=
(B) I
(C) =t
(D) =Ht

9. Which law is called the “TTeT=THIT" ?
(A) Grimm’s Law
(B) Collitz’s Law
(C) Verner’s Law
(D) Grassmann’s Law
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10. Which one is the example of ‘STEEHATT 9
(A) ©TellE > d<1e
(B) T >T<X

(C) Ay > feq
(D) =T > =T

11. 3fae ST S’ in this example here ‘faw” is —
(A) EfraT w4
(B) Efoqaay &4
(C) sreifeaa 9
(D) s faa FH

12, “STETf¥: ar99: ST — trace the case-ending —
(A) SR FATAT
(B) g gefram
(C) TFeATIeaTd T
(D) ITAATT T 11

13. THTH (Fill in the blank) —
(A) fo=mT
(B)foamg
(C) faay
(D) fag
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14. Choose the example of aTa=d =T —
(A) ITTTT AT
(B) Foea fgrmag
(C) UTHTT =
(D) T 17 &&Tia

15. “FOrgAT =v=: 39FA” in this example here THT is —
(A) STHHHTOT T
(B) SRR 0T T=IHT
(ORUGRIEEIEREE
(D) FFEITE T

16. What is the STeTTRaR{EE of  Fe e ” 2
(A)FF T ST Y
(B) H= T 399 |
© 7 T 39 7
(D) F1 e 9 I qq

17. Which T&T¥ is Y& in TeETEHTH ?
(A)TH
(B) 3T
(C) 397
(D) 377
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18. Name the #HTH by the I T+ FTATH:’ of the following —
(A) 5%
(B) TcT=H

(©) faT
OEERIEIC

19. Name the FHTH of TSTTET: —
(A) fEd=T qeqey
(B) FIqAT Fog=
(C) TgHt aegem
(D) TSI TeET

20. What is the AT [aug of “FEITEY:” ?
(A) Fo: &Y

(B) FoorTe |:
(C) F1 79

(D) FoorTT q9:
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P-1III (1+1+1) H/21 (N)
2021

SANSKRIT (Honours)

Paper Code : VI - B
[New Syllabus]
Full Marks : 80 Time : Three Hours Thirty Minutes

The figures in the margin indicate full marks.

1. Answer any two of the following questions (write your answer within 400
words) : 20%x2=40

(a) Name the ten branches of Indo-European Languages and classify them into
Centum and Satam groups. Give an idea of linguistic peculiarities of any one of
the ten branches.

(b) Discuss the relation of Sanskrit and Prakrit. Mention the different types of
Prakrit with illustration.

(c) Write a detailed note on 374 AT ATITHTH or FHHTLF.
2. Write informative note on any one of the following within 200 words : 10
3. Explain any four of the following sutras within 100 words each :  5x4=20

(a) TATLH AT |

(b) Aot orstErET |

(c) T fe |

(d) =T 575 |

(e) Ieq: |

) Sutee sTETiE e I |
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4. Explain any two of the following comments within 100 words each :
5x2=10

(a) TSR FH 2 THET S T |

(b) BTHARTAFHAZIT (A1 |

(c) HEET T: T TAATATS, T T FTeA | F=HA |

£ o

| £ . = =
(d) FATIRdH TgdATd hlvdTpldbd I THET [H=ATH]|

FTATEE! TN |
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